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(1) 7 x 22 x 4 = 167( cm?)
(2) 1% 22 X 6 = 247( cm?)
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(1) mx 32 x 5 = 457( cm?)
(2) x 52 x 8 = 2007( cm?)
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(2) 547 cm?

(1) mx 52 x 9 = 2257( cm?)
(2) 7 x 3% x 6 = 54n(cm?)
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|52 23 x 6 = 138(cm?) o]tk

w ©




10. o5 YAEF | FuE Fotei=t.

)

4cm

>
>
> HE D (1) 1127 em?
>

HE D (2) 7007 cm?®

(1)§><(7r><42)><3+(7r><42)><6

= 167 + 967 = 1127( cm?)

1 1
(2)gx(nx102)x24—§><(7r><52)><12

= 8007 — 100 = 7007( cm?)
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(1) % X (407 x 6) = 807r( cm?)

@) % X (367 x 8) = 967(cm?)
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(1) % X (361 x 8) = 967(cm?)

(2) % X (497 x 9) = 147x( cm?)
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(1) rx 52+ 5 X 13X 107 = 257 + 657 = 907r( cm?)

1
(2) 3 XX 52 x 12 = 100x( cm?)
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(1)7r><32+§><5><67r=97r+ 157 = 24n(cm?)
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